H &) H

o TR A FIE BC gk S

Fn

= 45 19§

442230138486

1. ERER

HENERGE S IIEWES

HERES

FBA20—-6014620

BEFEA B/ RfH4ER B X A
- e ASF0 65 4y 195  VEEEFA | A

BHHHOMT T 2B

5 Fo

T# bg 29m

2. pE%E - EREER

T & O R4 X34 FR

BT A & o £

3 D KA U344 TR
Xk 3k

5 H & o F BT

EHORH DL E

3. B AR

H

[1]
R

[318]

2RG—-—FBAZ2QO0

B FEME DR

4 P10

HEEDFER N

- EFEH o

BEROFIR

REER

2000 ke

2190k i 4355k

198 cn

1430 ke ~ kg

EXIEBED il

2.99 |

% H

BB OTEE | 4oy BB EES

4. =5

Fr
AL 2 TEEEREENE T O %A LiERE

P Mt SR HUs N T 9,
$m28$%ﬁﬁﬁ$ BT U5 N2A2A
IEHEREREE 81dB, HIEEERK 1, 598rpm
(lE%ﬁ@ﬁﬁﬁﬂ’m@ﬁﬁéﬁt 1, 598 r pm)
77— NERERKERE
PT4£&A

i |, BEusk §
%%ﬁ5$§ﬁﬁ]%ﬁ5$5ﬂ805 R 75%@%%@5

ﬁ%ﬁ@ﬁﬁ(NOx-PM)ﬁﬁo:oaaﬁmﬁﬁmﬁmmNoﬁ

I 0 0 o/
§.8 30 -

RS 77>

[EE%EH]
FEEFEIT VAT ARG ROFRE RV ET



